
Propiedad Distributiva (E)Use la propiedad distributiva como se muestra para hallar cada producto485 × 9 = 400 × 9 + 80 × 9 + 5 × 9= 3600 + 720 + 45= 4365313 × 2 = _______ × 2 + ______ × 2 + _____ × 2= 600 + 20 + 6= 626542 × 2 = _______ × 2 + ______ × 2 + _____ × 2= _______ + ______ + _____= 1084367 × 3 = _______ × _____ + _______ × _____ + _______ × _____= _______ + ______ + _____= _______613 × 5 = _______ × _____ + _______ × _____ + _______ × _____= _______ + ______ + _____= _______311 × 5 = _______ × _____ + _______ × _____ + _______ × _____= _______ + ______ + _____= _______414 × 8 = _______ × _____ + _______ × _____ + _______ × _____= _______ + ______ + _____= _______MatesLibres.Com


